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Fig. S1:Rank-order plots and inverse isochron plots with associated ages of SGTF analyses

25

20

15

10

age = 17.19+0.13 | 0.26 Ma (n=30)
(*Ar/*®Ar), = 301.22£6.24 | 12.77

mean = 17.226 +0.066 | 0.135 | 0.123 (n=30/30)
MSWD = 0.87, p(x>)= 0.66

MSWD = 0.83, p(x?) = 0.72

[s2]
o
S |
S
< 9
[N .WHHHHHHHHHHHHHHHHHDHHHH = g N
| el e I
S
S |
S
o
o
s |
[TTTTTTTTTTTTTTTTTTTTTTTTTTTITI o [ [ [ [ [ [
135 7 911 14 17 20 23 26 29 0.1 0.2 0.3 0.4 0.5 0.6
N SarAr
age = 17.06:+0.11 | 0.22 Ma (n=22)
mean = 17.139+0.041 | 0.085 | 0.042 (n=23/23) (CAr/*°Ar), = 304.92+6.99 | 14.59
MSWD = 0.25, p(x?) = 1.00 MSWD = 0.2, p(x?)= 1
[s2]
?
o
< 8
-
?
[0
N
Frrr7rvrrrvr7m 17171717 17 17T 17TT17TT17T 17T TT1TT1 [ [ [ [
1 3 5 7 9 11 13 15 17 19 21 23 0.45 0.50 0.55 0.60
N SarAr



